
11036 11036.5 11037 11037.5 11038
cyclenum

0.5

1

1.5

2

2.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

8276

8276.5

8277

8277.5

8278

8278.5

8279

8279.5

8280

ru
n

run:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8278}



11036 11036.5 11037 11037.5 11038
cyclenum

61.4−

61.2−

61−

60.8−

60.6−

60.4−

60.2−

60−

59.8−

59.6−

59.4−

59.2−

us
l_

1X
usl_1X:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

1−

0.5−

0

0.5

1us
l_

4a
Y

usl_4aY:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

5.5

6

6.5

7

7.5

us
l_

4e
X

usl_4eX:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

20

20.5

21

21.5

22

us
l_

4e
Y

usl_4eY:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

44−

43.5−

43−

42.5−

42−

us
l_

12
X

usl_12X:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

8276

8276.5

8277

8277.5

8278

8278.5

8279

8279.5

8280

ru
n

run:cyclenum {run == 8278}



11036 11036.5 11037 11037.5 11038
cyclenum

97.8−

97.6−

97.4−

97.2−

97−

96.8−

96.6−

96.4−

96.2−

96−

95.8−

95.6−

us
r_

1X
usr_1X:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

1−

0.5−

0

0.5

1

us
r_

4a
Y

usr_4aY:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

163.5

164

164.5

165

165.5

us
r_

4e
X

usr_4eX:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

17.4

17.6

17.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

44.5−

44−

43.5−

43−

42.5−

us
r_

12
X

usr_12X:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

8276

8276.5

8277

8277.5

8278

8278.5

8279

8279.5

8280

ru
n

run:cyclenum {run == 8278}



11036 11036.5 11037 11037.5 11038
cyclenum

16735.5

16736

16736.5

16737

16737.5

us
l_

co
il1

usl_coil1:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

2469

2469.5

2470

2470.5

2471

us
l_

co
il3

usl_coil3:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

5712

5712.5

5713

5713.5

5714

us
l_

co
il4

usl_coil4:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

3155.5−

3155−

3154.5−

3154−

3153.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

1078−

1077.5−

1077−

1076.5−

1076−us
l_

co
il7

usl_coil7:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

8276

8276.5

8277

8277.5

8278

8278.5

8279

8279.5

8280

ru
n

run:cyclenum {run == 8278}



11036 11036.5 11037 11037.5 11038
cyclenum

15821.5−

15821−

15820.5−

15820−

15819.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

3097−

3096.5−

3096−

3095.5−

3095−

us
r_

co
il3

usr_coil3:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

5711

5711.5

5712

5712.5

5713

us
r_

co
il4

usr_coil4:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

2907−

2906.5−

2906−

2905.5−

2905−

us
r_

co
il6

usr_coil6:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

15914

15914.5

15915

15915.5

15916

us
r_

co
il7

usr_coil7:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

8276

8276.5

8277

8277.5

8278

8278.5

8279

8279.5

8280

ru
n

run:cyclenum {run == 8278}



11036 11036.5 11037 11037.5 11038
cyclenum

140.4−

140.2−

140−

139.8−

139.6−

139.4−

139.2−

139−

138.8−

138.6−

138.4−

138.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

8.5

9

9.5

10

10.5

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

175

175.5

176

176.5

177

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

240−

239.5−

239−

238.5−

238−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

34−

33.5−

33−

32.5−

32−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

145

145.5

146

146.5

147

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8278}



11036 11036.5 11037 11037.5 11038
cyclenum

293.6

293.8

294

294.2

294.4

294.6

294.8

295

295.2

295.4

295.6

295.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

105.5−

105−

104.5−

104−

103.5−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

58.5−

58−

57.5−

57−

56.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

273

273.5

274

274.5

275

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

135−

134.5−

134−

133.5−

133−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

52−

51.5−

51−

50.5−

50−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8278}



11036 11036.5 11037 11037.5 11038
cyclenum

229−

228.5−

228−

227.5−

227−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

74−

73.5−

73−

72.5−

72−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

0.5

1

1.5

2

2.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

3.5

4

4.5

5

5.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

225−

224.5−

224−

223.5−

223−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8278}

11036 11036.5 11037 11037.5 11038
cyclenum

8276

8276.5

8277

8277.5

8278

8278.5

8279

8279.5

8280

ru
n

run:cyclenum {run == 8278}
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